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PERCENTAGE

1. Express the following percents as fractions

in the simplest forms:


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_8pHK2UodAavK

(1)57%
(ii) 36%

(iii)115%

o Watch Video Solution

2. Express each of the following percents as
fractions in the simplest forms:

(1)0.375%

(i) 0.4%

2
(iii)16§ %

o Watch Video Solution



https://dl.doubtnut.com/l/_8pHK2UodAavK
https://dl.doubtnut.com/l/_WymnG8EFe2XH

3. Express each of the following fractions as

percents:

(i)g
9
(ii) 20

51
(iii) 1

o Watch Video Solution

4. Express each of the following into percents:

(1)0.375


https://dl.doubtnut.com/l/_WymnG8EFe2XH
https://dl.doubtnut.com/l/_WPGyjeMgjpy7
https://dl.doubtnut.com/l/_yQ53QtdblMJW

(i) 0.005

(111)2.45

° Watch Video Solution

5. Express each of the following per cents as
fractions in the simplest forms:
(1)45%

(i) 0.25%

o Watch Video Solution



https://dl.doubtnut.com/l/_yQ53QtdblMJW
https://dl.doubtnut.com/l/_SSNozAn2Qq7r

6. Express each of the following per cents as
fractions in the simplest forms:
(1)150%

(i1) 6% %o

° Watch Video Solution

7. Express each of the following fractions as a

percent:

3
(I)Z
53

W) 700

| & I


https://dl.doubtnut.com/l/_pKzTiWgshhcc
https://dl.doubtnut.com/l/_xr0hcy9q7RXI

| ¥ Watch Video Solution |

8. Express each of the following fractions as a

percent:

i
"5

7
(ii) 20

o Watch Video Solution

9. Express the following as percents:

(i)6: 5


https://dl.doubtnut.com/l/_xr0hcy9q7RXI
https://dl.doubtnut.com/l/_n6lTnmxbvsLU
https://dl.doubtnut.com/l/_863FNEyExZZt

(i1) 30: 80

(i) 3: 12

° Watch Video Solution

10. Express each of the following percents as a
ratio in the simplest form: (i)28% (ii) 52%

(iii)0.4% (iv) 6% %o

° Watch Video Solution



https://dl.doubtnut.com/l/_863FNEyExZZt
https://dl.doubtnut.com/l/_duCQbO9H8Gmz

11. Express each of the following ratios as
percents:

(1)4:5

(i) 1:5

(111)11: 125

o Watch Video Solution

12. Express each of the following percents as

ratio in the simplest forms:

(1)2.5%


https://dl.doubtnut.com/l/_9JvwHLaheBlk
https://dl.doubtnut.com/l/_Hl7eUIqR3tAz

(i) 0.4%

(iii)lB% Yo

° Watch Video Solution

13. Express each of the following as a decimal:
(1)65%

(i) 12%

° Watch Video Solution



https://dl.doubtnut.com/l/_Hl7eUIqR3tAz
https://dl.doubtnut.com/l/_YoBZdE8rDx2v

14. Express each of the following as a decimal:
(1)7.4%

(i) 01%

o Watch Video Solution

15. Express each of the following as percent:
(1)0.037
(i1) 0.002

(1i)1.2

o Watch Video Solution



https://dl.doubtnut.com/l/_ESzhhKy4AeAW
https://dl.doubtnut.com/l/_dcgsCAhc6psI

16. Express each of the following percents as
decimals:
(i)12.5%

(i) 75%

o Watch Video Solution

17. Express each of the following percents as
decimals:
(1)128.8%

(i) 0.05%


https://dl.doubtnut.com/l/_dcgsCAhc6psI
https://dl.doubtnut.com/l/_n2NYupvqgOkD
https://dl.doubtnut.com/l/_2uDbisidg0qB

° Watch Video Solution

18. Express each of the following decimals as
percent:
(i)0.004

(i) 0.24

o Watch Video Solution

19. Express each of the following decimals as

percent:


https://dl.doubtnut.com/l/_2uDbisidg0qB
https://dl.doubtnut.com/l/_PPzJU0GXRgsf
https://dl.doubtnut.com/l/_ZjWb1qQnShm8

(1)0.02

(i) 0.275

° Watch Video Solution

20. Write each of the following as whole
numbers or mixed numbers:

(i)136%

(i) 250%

(iii)300%

° Watch Video Solution



https://dl.doubtnut.com/l/_ZjWb1qQnShm8
https://dl.doubtnut.com/l/_YJFLhpxvuL1Z
https://dl.doubtnut.com/l/_tYJXsCREyD89

21. Find
()30 % of Rs 180

(i) 16 % of 25 litres

° Watch Video Solution

22.Find

1

(i) 45 % of Rs 1800
(i) 10 % of 350 km

(iii) 120 % of 20 kg

o Watch Video Solution



https://dl.doubtnut.com/l/_tYJXsCREyD89
https://dl.doubtnut.com/l/_5aDyAk59swzi

23.Find a number whose 4 % is 72.

o Watch Video Solution

24. What is the sum of money of which 8% is

Rs 4807

o Watch Video Solution

25. Find each of the following:

(i) 7% of Rs 7150


https://dl.doubtnut.com/l/_f4KbU4ZIWGM6
https://dl.doubtnut.com/l/_1oWzQr8J5wdv
https://dl.doubtnut.com/l/_PHwHDD4AqZDT

(ii) 40% of 400 kg

o Watch Video Solution

26. Find each of the following:
(i) 20% of 15.125 litres

1
(i) 3= % of 90 km

(iii) 2. 5 % of 600 metres

° Watch Video Solution

1
27. Find the number whose 125 % is 64.


https://dl.doubtnut.com/l/_PHwHDD4AqZDT
https://dl.doubtnut.com/l/_ZlyL9Hn8irJn
https://dl.doubtnut.com/l/_jSrupstOASrP

° Watch Video Solution

1
28. What is the number, 6Z % of which is 2?

° Watch Video Solution

29. If 6 is 50% of a number, what is that

number?

o Watch Video Solution



https://dl.doubtnut.com/l/_jSrupstOASrP
https://dl.doubtnut.com/l/_ocyC9uMgcArS
https://dl.doubtnut.com/l/_6gJMoOADX6AU

30. What percent of 25 kg is 3.5 kg?

o Watch Video Solution

31. What percent of 750 metres is 125 metres?

o Watch Video Solution

32. Express 75 paise as a percent of Rs 5.

o Watch Video Solution



https://dl.doubtnut.com/l/_XDizBdxhPtwD
https://dl.doubtnut.com/l/_cvnfoCtHo96v
https://dl.doubtnut.com/l/_S2AqtDpWHKrV

33. Express 18 hours as a percent of 3 days.

o Watch Video Solution

34. Find 10% more than Rs 90.

o Watch Video Solution

35. Find 20% less than Rs 70.

o Watch Video Solution



https://dl.doubtnut.com/l/_ChMYWvEFuGkP
https://dl.doubtnut.com/l/_dVqY5H5W1wVU
https://dl.doubtnut.com/l/_hlirRvSvAcUB

36. What percent of
(1) 24 is 67

(ii) Rs 125 is Rs 10?

o Watch Video Solution

37. What percent of (i) 4 km is 160

metres? (i) Rs 8 is 25 paise?

o Watch Video Solution



https://dl.doubtnut.com/l/_aCRBBDWbGS8c
https://dl.doubtnut.com/l/_hdEFQVmdlfFG

38. What percent of
(1) 2 days is 8 hours?

(ii) 1 litre is 175 ml?

o Watch Video Solution

39. What percent is equivalent to§ ?

o Watch Video Solution



https://dl.doubtnut.com/l/_eAFRrbDEx8G3
https://dl.doubtnut.com/l/_cWWaI0oqZ6kc

40. Find the following:
(i) 8 is 4% of which number?

(ii) 6 is 60% of which number?

o Watch Video Solution

41.Find the following:
(i) 6 is 30% of which number?

(ii) 12 is 25% of which number?

o Watch Video Solution



https://dl.doubtnut.com/l/_tmn7fmqpb32V
https://dl.doubtnut.com/l/_3duWVmC0EM5D
https://dl.doubtnut.com/l/_PNP24wcElab7

42. Convert each of the following pairs into
percentages and find out which is more? (i) 25
marks out of 30, 35 marks out of 40. (ii) 100
runs scored off 110 balls, 50 runs scored off 55

balls.

o Watch Video Solution

43. Find 20% more than Rs 200.

o Watch Video Solution



https://dl.doubtnut.com/l/_PNP24wcElab7
https://dl.doubtnut.com/l/_9tWMMGMWtin3
https://dl.doubtnut.com/l/_WINPJVSVNpVi

44.Find 10% less than Rs 150.

o Watch Video Solution

45, Sarita secured 84% marks in Hindi paper. If
the maximum marks in the paper are 150, find

the marks secured by her in the paper.

o Watch Video Solution

46. 55% of the population of a town are males.

If the total population of the town is 64100,


https://dl.doubtnut.com/l/_WINPJVSVNpVi
https://dl.doubtnut.com/l/_LA5YbKtQjK7H
https://dl.doubtnut.com/l/_2EV9aBwjrbNB

find the population of females in the town.

o Watch Video Solution

47. In an election, out of 75000 eligible voters
50000 cast their votes. What was the

percentage of people casting their votes?

o Watch Video Solution

48. A basket contains 350 eggs. If 12% of the

eggs are rotten, find the number of eggs,


https://dl.doubtnut.com/l/_2EV9aBwjrbNB
https://dl.doubtnut.com/l/_LHoWfIejnZSD
https://dl.doubtnut.com/l/_Ih1QjJ718bYh

good enough to be sold.

o Watch Video Solution

49. In a fabric, cotton and synthetic fibres are
in the ratio of 2: 3. what is the percentage of

cotton fibre in the fabric?

o Watch Video Solution

50. A man spends 92% of his monthly income.

If he saves Rs 220 per month, what is his


https://dl.doubtnut.com/l/_Ih1QjJ718bYh
https://dl.doubtnut.com/l/_antTi9smtvyc
https://dl.doubtnut.com/l/_zfW6EeSzK5Nd

monthly income?

o Watch Video Solution

51. In an examination, 94% of the candidates
passed and 114 failed. How many candidates

appeared?

o Watch Video Solution

52. 12% of the employees in a factory are

females and the number of male employees is


https://dl.doubtnut.com/l/_zfW6EeSzK5Nd
https://dl.doubtnut.com/l/_wN1IaDjHILWD
https://dl.doubtnut.com/l/_nTxegLC3whVE

264. Find the total number of employees. Also,

find the number of female employees.

° Watch Video Solution

53.1n a school, 720 are boys and 40% are girls.

Find the number of girls.

o Watch Video Solution

54, A student scored 3 marks more than what

he did in the previous examination in which he


https://dl.doubtnut.com/l/_nTxegLC3whVE
https://dl.doubtnut.com/l/_XTDxGagvoyEy
https://dl.doubtnut.com/l/_SxoB66S9rDfq

had scored 12. Another student scored 12
marks more than he did in the previous
examination in which he had scored 84. Who

had shown more. Improvement?

° Watch Video Solution

55. The size of a bag that could hold 5 kg of
sugar has now been increased so that it can
hold 6 kg. What is the percentage increase in

size?

° Watch Video Solution



https://dl.doubtnut.com/l/_SxoB66S9rDfq
https://dl.doubtnut.com/l/_aucpGLWaYaIl

56. Ashu had 24 pages to write. By the evening,
he had completed 25% of his work. How many

pages were left?

o Watch Video Solution

57. A box contains 60 eggs. Out of which

2
16§ % are rotten ones. How many eggs are

rotten?

o Watch Video Solution



https://dl.doubtnut.com/l/_aucpGLWaYaIl
https://dl.doubtnut.com/l/_1HtM4kkfSr3z
https://dl.doubtnut.com/l/_4GQqYuEu3jUH

58. Rohit obtained 45 marks out of 80. What

per cent marks did he get?

° Watch Video Solution

59. Mr Virmani saves 12% of his salary. If he
receives Rs 15900 per month as salary, find his

monthly expenditure.

° Watch Video Solution



https://dl.doubtnut.com/l/_nfOoRb2Y3NXa
https://dl.doubtnut.com/l/_xq9uWk0StmIX

60. A lawyer willed his 3 sons Rs 250000 to be
divided into portions 30%, 45% and 25%. How

much did each of them inherit?

o Watch Video Solution

61. Rajdhani College has 2400 students, 40%
of whom are girls. How many boys are there in

the college?

o Watch Video Solution



https://dl.doubtnut.com/l/_Tep1BJtrcfvs
https://dl.doubtnut.com/l/_RSUy7CVjiHSU
https://dl.doubtnut.com/l/_UuRGCeisaq3b

62. Amar obtained 410 marks out of 500 in an
examination while his friend Rajiv gets 536
marks out of 600. Find whose performance is

better.

° Watch Video Solution

63. Rahim obtained 60 marks out of 75 in
Mathematics. Find the percentage of marks

obtained by Rahim in Mathematics.

° Watch Video Solution



https://dl.doubtnut.com/l/_UuRGCeisaq3b
https://dl.doubtnut.com/l/_Z4GcXDYPDMNK

2
64. In an orchard,16§ % of the trees are
apple trees. If the number of trees in the
orchard is 240, find the number of other type

of trees in the orchard.

° Watch Video Solution

65. Ram scored 553 marks out of 700 and Gita
scored 486 marks out of 600 in science. Whose

performance is better?

° Watch Video Solution



https://dl.doubtnut.com/l/_WkXGvc6Z9fKq
https://dl.doubtnut.com/l/_XDOsb2ngmVLG

66. Out of an income of Rs 15000, Nazima
spends Rs 10200. What per cent of her income

does she save?

° Watch Video Solution

67. 45% of the students in a school are boys. If
the total number of students in the school is

880, find the number of girls in the school.

° Watch Video Solution



https://dl.doubtnut.com/l/_XDOsb2ngmVLG
https://dl.doubtnut.com/l/_ZgugMB9F8g3Y
https://dl.doubtnut.com/l/_RwDP3Qu4eoAo

68. Mr. Sidhana saves 28% of his income. If he
saves As 840 per month, find his monthly

income.

o Watch Video Solution

69. In an examination, 8% of the students fail.
What percentage of the students pass? If 1650
students appeared in the examination, how

many passed?

° Watch Video Solution



https://dl.doubtnut.com/l/_b4tfAV3uT1Nl
https://dl.doubtnut.com/l/_KYubjmr0cOeA

70. In an examination, 92% of the candidates

passed and 46 failed. How many candidates

appeared?

o Watch Video Solution

71. 5 as percent is

A.30%
B.35%

C. 40%


https://dl.doubtnut.com/l/_KYubjmr0cOeA
https://dl.doubtnut.com/l/_zthAdebxyMEv
https://dl.doubtnut.com/l/_pLub45EBhutb

D. 45%

Answer: C

o Watch Video Solution

5
72. L asa percent is

(a) 80%
(b) 125%
(c) 120%

(d) 130%

o Watch Video Solution



https://dl.doubtnut.com/l/_pLub45EBhutb
https://dl.doubtnut.com/l/_K64FlQCkbWvZ

73.The ratio 3: 5 as a percent is
(a) 60%
(b) 50%
(c) 40%

(d) 80%

o Watch Video Solution

74.12% as a fraction is

3
(@5
4

(b) 5


https://dl.doubtnut.com/l/_K64FlQCkbWvZ
https://dl.doubtnut.com/l/_6taSH56QBJKB
https://dl.doubtnut.com/l/_vdMbCeIJv3uM

3
20
(d) S
25

(c)

° Watch Video Solution

75. 1Z % as a fraction is

1
40
1

b) 5o

1
80

(a)

(c)

(d) =5

° Watch Video Solution



https://dl.doubtnut.com/l/_vdMbCeIJv3uM
https://dl.doubtnut.com/l/_1RYZkTROJDE4
https://dl.doubtnut.com/l/_6boRqHPMifUQ

76. Which of the following fractions is

equivalent to 25%?

1
(a)z

— P

o =

N

O N UY [

—~
o
N

o Watch Video Solution

77.1f 25% of = is 100, then z =
(a) 100

(b) 200


https://dl.doubtnut.com/l/_6boRqHPMifUQ
https://dl.doubtnut.com/l/_UeJxxb5JUC72

(c) 300

(d) 400

° Watch Video Solution

78. If 8% of a number is 6, then the number is

(d) 75

° Watch Video Solution



https://dl.doubtnut.com/l/_UeJxxb5JUC72
https://dl.doubtnut.com/l/_2bnhi9gl6LD6
https://dl.doubtnut.com/l/_eNvFFzZFSVgN

79.1f £ % of 75is 12, then = =

(d) 16

° Watch Video Solution

5
80. If 8 of 29% of x is 29, then x =

(a) 290

(b) 58


https://dl.doubtnut.com/l/_eNvFFzZFSVgN
https://dl.doubtnut.com/l/_oHAxZzo59eqO

(c) 120

(d) 100

° Watch Video Solution

81. What percent of % is 3—15 ?
(a) 25%
(b) 20%
(c) 15%
(d) 10%

° Watch Video Solution



https://dl.doubtnut.com/l/_oHAxZzo59eqO
https://dl.doubtnut.com/l/_vXLO3y1SaCoD
https://dl.doubtnut.com/l/_CgNZ5UvQXf46

82.I1f £ = 100, then 120% of x is
(a) 125
(b) 115
(c) 120

(d) 110

° Watch Video Solution

83. 40% of 150+60% of 150=
(a) 200

(b) 150


https://dl.doubtnut.com/l/_CgNZ5UvQXf46
https://dl.doubtnut.com/l/_OxjhGfCQWLC3

(c) 250

(d) 180

° Watch Video Solution

84.50% of 150+70% of 300=
(a) 295

(b) 285

(c) 265

(d) 275

° Watch Video Solution



https://dl.doubtnut.com/l/_OxjhGfCQWLC3
https://dl.doubtnut.com/l/_4XOU2Otf1Rii
https://dl.doubtnut.com/l/_ovzD77yD6vRX

85.55% of 1000 + 60% of 2000=

11
24
(b) 12

25

13
(c) ﬂ

14
(d) o5

(a)

° Watch Video Solution

86.If x % of 2000=600, then = =


https://dl.doubtnut.com/l/_ovzD77yD6vRX
https://dl.doubtnut.com/l/_HD3m7RQUZJ7E

(c) 40

(d) 50

° Watch Video Solution

87.1f ¢ % of 152 is ;2, then z =
(a) 30
(b) 40
(c) 72
(d) 50

° Watch Video Solution



https://dl.doubtnut.com/l/_HD3m7RQUZJ7E
https://dl.doubtnut.com/l/_5tXavBaJtwt9
https://dl.doubtnut.com/l/_bBKdPNZGJSsk

88. The value of 30% of 60% of 200 is

(d) 36

° Watch Video Solution

2
89. If 5 of 50% of z is 10, then x =

(a) 100

(b) 50


https://dl.doubtnut.com/l/_bBKdPNZGJSsk
https://dl.doubtnut.com/l/_VZ71xXOAzmAy

(c) 25

(d) 80

° Watch Video Solution

90. If % of 49% of z is 21, then x =
(a) 125

(b) 98

(c) 84

(d) 75

° Watch Video Solution



https://dl.doubtnut.com/l/_VZ71xXOAzmAy
https://dl.doubtnut.com/l/_Wi6ZRMhwSdRr
https://dl.doubtnut.com/l/_cDOBn3AD0sV0

91. Which of the
equivalent to 12.5%?
( )1
)

(b)

g = o

(c)
1

(d) 1

following fractions

IS

° Watch Video Solution

92. Ravish saves 55% of his income. If his

income is Rs 11000, then his expenditure is

(a) Rs 6050


https://dl.doubtnut.com/l/_cDOBn3AD0sV0
https://dl.doubtnut.com/l/_hp5LkBwMIGr0

(b) Rs 7450
(c) Rs 4950

(d) Rs 3550

o Watch Video Solution

93. If 35% of a number added to 39 is the

number itself, the number is



https://dl.doubtnut.com/l/_hp5LkBwMIGr0
https://dl.doubtnut.com/l/_mCkzXNcnxaeL

& Wwatch Video Solution I

94. On increasing the salary of a man by 25%,
it becomes Rs 20,000. What was his original
salary?

(a) Rs 15000

(b) Rs 16000

(c) Rs 18000

(d) Rs 25000

° Watch Video Solution



https://dl.doubtnut.com/l/_mCkzXNcnxaeL
https://dl.doubtnut.com/l/_0CYizQgJYTrx

95. Rohit scored 180 marks in the first test and
150 marks in the second test. The maximum
marks in each test is 200. What is the decrease
in his performance in percentage points?

(a) 20%

(b) 15%

(c) 25%

(d) 23%

o Watch Video Solution



https://dl.doubtnut.com/l/_KEnO22tRv23L

